> o RIS = B
FHHAE—F
X2019FE 10 1HHRE
= S e ERI(H) EZE) E R i ERI(H) T EZE)
CES 2,160 2200 n 3FMXD 10 330
GRFWIE 2160 2200 P ANBBEADAE  emp 1 216 550
y |BEFHIE 2,160 2,200 AL B~ AS COPEA 10 324 330
& |BESNTF 1,080 1,100 3AMELLE 10 540 550
= |FRFER 540 550 E | sz 3FMX®E 10 324 330
4 |BEFRH 540 550 = 3FMALE 10 540 550
< LEE R AR 2,160 2,200 CER 3FMFX® 10 648 660
O FER R 3,780 11,000 - = 3FMALE 10 864 880
B2 2T —F 2B 5,400 5,500 S 3FMAFE 10 648 660
EAD—RRT 1,080 1,100 =15 3FMALE 10 864 880
IC X ¥y ah—FEFRETRVBEEI—EISDEE) 324 330 —— 3FMAXE 10 mi e
IC F-OneCard IR TRUVBEN—FHLDY)E) A e = IR 3FEUE 10 45 4] 43
BT (C ¥y 1H—F-IC F-OneCard-O—>H—F @k -5 E) 1,080 1.100 BT~ | e 3FM%®E 10 108 110
3E B RS AERDBRITIC ﬂHny&z{jmJ—;-lc ;—On:JrCard-u—WJ—P) ?gg ??g FIFA SEH:EL% 10 3%3 228
Fh—RFIRE - 3FMXD 10
i g it : mL D z 0
EHIT . 3 o100
" % \wess 432 440 M ; ki 3BFMELE 10 432 440
B pen— £XHEABRATAERGERLRT(E) 432 440 ¢ rmmm 3BMAKHE 10 216 220
HESE T5 1,080 1,100 X 3FMALE 10 432 440
= [BETEAMET 3,240 3,300 = P 3FMF® 10 540 550
LTI EERX LS DFIT 1,080 1,100 5 3FMALE 10 756 770
IG5 BME S R T AR 1,080 110 A EEBR TR 1,080 1,100
ALiE LBADE (EE- L) | g e 3FAKE 10 A &
ROHADIE 1,620 1,650 3FEUE 10 A e
514~ 1,0004% 324 330 I7—L I 3FM%®E 10 108 110
ROZWEAHLRE(FEE) 1,001~ 2,003 648 660 NoxY 3FALE 10 324 330
20018~ 1,000 & (2324H 1,000# £ 2330H g 3FMkKHE 10 432 440
514~ 1,0004% 324 330 3FMELLE 10 648 660
BOMETEGEE-EH) 1,001#% ~2,0004% 648 660 - 3BMKMH 10 = AR
20018~ 1,000 & (2324H 1,000# & 2330H ) SIS 3FMELUE 10 m mrl
FREIS] (Beot) 1,080 1,100 =) A8 —Ryk I 3FMA%HE 10 108 110
R EETEETRN FREM 5,400 5,500 5| NoXY 3FMALE 10 324 330
B (E—2%EBRO SMEEM 10,800 11,000 1% R 3FMRE 10 432 440
" a-all-p 21,600 22,000 3FMAME 10 648 660
= [REEESRTTFHHN 3,240 3,300 — 3HMXMHE 10 =l =
= 30075 [k i 10,800 11,000 3FMELUE 10 A s
% FREFHE (O—2 <) 3005 M LLLE1,0005 F%KE 32,400 33,000 AL 3FMXD 10 108 110
10005 M LLE 54000 55,000 %8 B A 3FMELE 10 324 330
ZRZTRFHEO—B) |mESHE 32.400 33,000 JEER = R 3FMXE 10 432 440
—BEEO— 32.400 33,000 7 3FMLE 10 648 660
4% 50 EERERERM 32,400 33,000 e
£ 2R L R— 108.000 165.000 EATFHH 540 550
eI T 21,600 22,000 P AXJER 10 648 660
~ | [ ERERRFHN 10,800 11,000 = #4758 (E@) 10 864 880
= 30075 Ak % 10,800 11,000 R ZEFHE 10 3,000 3,000
& 48 bR FF R 30075 M LA _E 1,0005 A5 32,400 33,000 R EEH 10 1,500 1,500
i 1,00075 [ A £ 54,000 55,000 AXIER & 432 440
% | 0w [BIRERE 2.160~3,240 2 200~ 3,300 EHELFHIBAN |75 (5E) 18 864 880
~|§ EHEEFHE 5,400 5,500 REmI WmiTs(Ea) 18 1,080 1,100
~F |48 FRE T MO 10,800 11,000 _ i = e
EEL T =40 =0 R—FRKM|mAN | FHEREZ & 432 440
AHEERERABRERTRS (ST 5180 5500 #&- FAMRK 10 1,080 1,100
SFBAZEHY5,0005 H kK i 5,400 5,500 e gm e e <>
BAT EENERT SEER4E115,00075 F L1 S8 MK 21,600 22,000 MIFRARS 18 1,080 1,100
SERR%EASE M LA b 54000 55,000 I e
i 50005 FIKE 21.600 22,000 ot #RIAZTIEF 20k et 880
& . ?g&’;ﬁui”ﬁﬂ*ﬁ gi:ggg gg:ggg FEERENS 18 1.080 1.100
TRERRRATEN  Gewa g en —nER . . -
B EEE ERRE. GBS 21,600 22,000 MREES R FFHH 112 2 =&
ol (RRIFELL) 3,240 3,300 #1475 10 75 T S B R Bt 540 550
RIEER% A R FAEERIZED FEBERIZLD AT 1K
3 S b EE K
z ’fﬁ;ﬁ;j—;?’m& ggjg g:ggg £ BB/ R I (4 ) 10,800 11,000
BAAB—FYRNFLT BEEEARF R R mr 60H 19,440 19,800
ZRF 3,240 3,300 ) 100H 21,600 22 000
kA A— Ry kNS BaEARE AEEATHE 1620 1.650 SEBREENAH 140H 23.760 24,200
BaEARE+T—2EE BEENTHE 5,400 5,500 E 200H 28,080 28,600
NEZEEAA—2 Vb2 —ER |BEERFHH 1,080 1,100 ; A 10[EF2EFI 64800 66,000
J7—LNUE T —ER BEERTFHH 3,240 3,300 e BEESELRY B 15EF2E 7 A 86,400 88,000
z R— LA X T o7 H S5 —F | REREATHE 1,080 1,100 - B 20[@ Ll E I 129,600 132,000
RETRTRH 324 330
@ RGN (5 BRAD) 162 165 fr |[REERALE 1,620 1,650
SEEETRTEE(EE-EESD) 324 330 . - -
e e EX e 324 330 REEERERAM =8 =&
FEER 045 Hhr iy )
;igﬁgigﬂ ggj ggg RemEY — R E M ATEY 3,240 3,300
ThASNRYRF—E R XIFEEERE R F SR 2,160 2.200
LR BT RO R TF A 5,400 5,500 N ERFHHICOWTIEFELGLKERTSETVEEEGERHYFET,
TASNERZERTTHHE (BEEKRAR) 3,780 3,850
TASNIRZER T (RERTAR) 1,836 1,870
BGHE F 3R 1,080 1,100
BRFHHE (213]-18{3) 1,080 1,100
EHERTFRE(ED) 3,240 3,300






